

2.17/17) - 2.17.18e

$\text{Ker}(A^*A) = \text{Ker}(A)$: מ'ב'מ 1

$A^*Av = A^*0 \Rightarrow$ ש'כ $Av = 0$ - $v \in V$ ש'כ $v \in \text{Ker}(A)$: 2

$\forall v \in \text{Ker}(A) \Rightarrow Av = 0$ - $e \in \text{Ker}(A)$: 3

$\langle Av, v \rangle = \langle 0, v \rangle = \langle 0, v \rangle = \langle 0, v \rangle = \langle 0, v \rangle$
 $\langle 0, v \rangle = 0$

$A^*Av = 0$ - $v \in V$ ש'כ $v \in \text{Ker}(A)$

$0 = \langle A^*Av, v \rangle = \langle Av, Av \rangle \Rightarrow Av = 0$

T: V → W

$(\text{Im} T)^{\perp} = \text{Ker}(T^*)$: מ'ב'מ 2

$\dim(\text{Ker} T) + \dim(\text{Ker} T^*) = \dim V - \dim W$: מ'ב'מ 3

$T^*v = 0$ - $v \in V$ ש'כ $v \in \text{Ker}(T^*)$: 4

$Tu = 0$ ש'כ $u \in \text{Ker}(T)$

$\langle v, Tu \rangle = \langle T^*v, u \rangle = \langle 0, u \rangle = 0$

$v \in (\text{Im} T)^{\perp}$: 5

$v \in (\text{Im} T)^{\perp}$ ש'כ $v \in \text{Ker}(T^*)$

$\langle v, Tu \rangle = 0$ - $Tu = 0$ ש'כ $u \in \text{Ker}(T)$

$u = T^*v$: 6

$0 = \langle v, T T^*v \rangle = \langle T^*v, T T^*v \rangle = \langle T^*v, v \rangle$

$v \in \text{Ker}(T^*)$

$\dim \text{Ker} T = \dim V - \dim \text{Im} T$: 7

$\dim \text{Im} T = \dim W - \dim (\text{Im} T)^{\perp}$

$\text{Im} T^{\perp} = \text{Ker} T^*$: 8

$\dim \text{Ker} T = \dim V - (\dim W - \dim \text{Ker} T^*)$: 9

$\dim \text{Ker} T - \dim \text{Ker} T^{\perp} = \dim V - \dim W$

$T^{\perp} = T$ ש'כ $\dim V = \dim W$ - T ש'כ T ש'כ $\dim V = \dim W$: 10

$T = T^{\perp}$: 11 $T^{\perp} = T^*$: 12 $T = T^*$: 13

$T^{\perp} = T \cdot T^{\perp} T = T \cdot T^* T = T$

$v_1^{\perp} \cdot Av_2^{\perp} = 0$: 14 $v_1 \cdot Av_2 = 0$: 15 $v_1 \perp v_2 = 0$: 16

$v_1 \perp v_2 = 0$: 17

רע' פונקטן $v_1^+ \wedge v_2^+ = 0$ און $\int_{\mathbb{R}^2} \omega = 1$ מען נייט

$$W_1^+ \wedge v_2^+ = v_1^+ \wedge v_2^+ = v_1^+ \wedge v_2^+$$

$$v_1^+ \wedge v_2^+ = (v_1 \wedge v_2)^+ = v_1^+ \wedge v_2^+$$

$\|v_1^+\| = \|v_1\|$ און $\|v_2^+\| = \|v_2\|$ און $v_1^+ \wedge v_2^+ = v_1 \wedge v_2$

$Tv = w$ און $T^2 = T$ און $v = v \wedge v = 0$

$T^2 = T$ און $v = v \wedge v = 0$

אין \mathbb{R}^2 און v_1, v_2 און v_1^+, v_2^+ און $v_1 \wedge v_2 = v_1^+ \wedge v_2^+$

און $v_1 \wedge v_2 = v_1^+ \wedge v_2^+$ און $v_1 \wedge v_2 = v_1^+ \wedge v_2^+$

און $v_1 \wedge v_2 = v_1^+ \wedge v_2^+$ און $v_1 \wedge v_2 = v_1^+ \wedge v_2^+$

און $v_1 \wedge v_2 = v_1^+ \wedge v_2^+$ און $v_1 \wedge v_2 = v_1^+ \wedge v_2^+$

$$T(v) = T\left(\frac{v_1 \wedge v_2}{\|v_1 \wedge v_2\|}\right) = \|v_1 \wedge v_2\| T\left(\frac{v_1 \wedge v_2}{\|v_1 \wedge v_2\|}\right) = \|v_1 \wedge v_2\| \cdot \frac{v_1 \wedge v_2}{\|v_1 \wedge v_2\|} = v_1 \wedge v_2$$

$$\|v_1 \wedge v_2\| \cdot \frac{v_1 \wedge v_2}{\|v_1 \wedge v_2\|} = v_1 \wedge v_2$$

$$\langle f, g \rangle = \int_{\mathbb{R}^2} f g dx \quad \text{און } v = \mathbb{R}_2[x]$$

$$u = \mathbb{R}[x] = \mathbb{R}[x]$$

$$u = \mathbb{R}[x] = \mathbb{R}[x]$$

$$x^2 - 1 = (x-1)(x+1)$$

$$\langle a, b \rangle = \text{span}(-1, 1, 0) \quad \langle -1, 0, 1 \rangle = \text{span}(x^2 - x, x^2 - 1)$$

$$\text{I} \int_0^1 (x^2 - 1)(ax^2 + bx + c) dx = 0$$

$$\text{II} \int_0^1 (x^2 - x)(ax^2 + bx + c) dx = 0$$

$$\text{I} \int_0^1 (ax^4 - bx^3) - (c-a)x^2 - bx - c dx = 0$$

$$\text{II} \int_0^1 (ax^4 - bx^3) - (c-a)x^2 - cx dx = 0$$

$$\frac{ax^5}{5} + \frac{bx^4}{4} + \frac{(c-a)x^3}{3} - \frac{bx^2}{2} - \frac{cx}{1} \Big|_0^1 = 0$$

$$\frac{a}{5} + \frac{b}{4} + \frac{c-a}{3} - \frac{b}{2} - c = 0$$

$$\text{II} \int_0^1 ax^4 + (b-a)x^3 - (c+b)x^2 - cx dx = 0$$

$$\frac{ax^5}{5} + \frac{(c-b)x^4}{4} + \frac{(c-b)x^3}{3} - \frac{cx^2}{2} + 1 = 0$$

$$\frac{a}{5} + \frac{c-b}{4} + \frac{c-b}{3} - \frac{c}{2} = 0$$

C=K 2.3)

$$\frac{a}{5} + \frac{-b}{4} + \frac{a}{3} - \frac{c}{3} - \frac{c}{2} = 0$$

$$\frac{a}{20} = \frac{-b}{12} - \frac{c}{6}$$

$$a = \frac{-5b}{3} - \frac{10c}{3}$$

System View 2.3)

$$\frac{-5b}{3} - \frac{10c}{3} + \frac{b}{4} + \frac{c}{3} - \frac{-5b}{3} - \frac{10c}{3} - \frac{b}{2} + c = 0$$

$$\frac{-b}{3} - \frac{2c}{3} + \frac{b}{4} + \frac{c}{3} - \frac{5b}{3} - \frac{10c}{3} - \frac{b}{2} + c = 0$$

$$\frac{-41b}{36} - \frac{22c}{9} = 0$$

$$\frac{-41b}{4} - 22c = 0$$

$$b = \frac{-88c}{41}$$

$$a = \frac{-588c}{41} - \frac{10c}{3}$$

$$W = \text{Span} \left\{ \left(\frac{-588}{41} - \frac{10}{3} \right) x^2 - \frac{88}{41} x + 1 \right\}$$

are in W, are in W, are in W, are in W

$$T(CE^i) = CE^i \text{ or } T(CE) = E$$

$$\langle T(e^i), e^j \rangle = \langle e^i, e^j \rangle = 0$$

Orthogonal basis $\{e^i\}$

T is linear transformation

$$T(\sum c_i v_i) = \sum c_i T(v_i) = \sum c_i v_i \rightarrow \text{Span}\{v_i\}$$